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Algebra 2
Chapter 5 Self Assessment

Put in standard form. Then classify by degree and number of terms.
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1. x3—4x5+3~x z,(3x - X +4)-(2x3+x2+2)

3xEX%Y -2x > x%2-2

3. Evaluate the polynomial function for x = =2, =1, 0, 1, 2. Then graph the function.
Then describe the end behavlor of the graph of the function. -

y=-x*+8
2 | y |
-2 |-(-2)} +%=-§ f
-1 F(-0%= 1 f .
0 |F(oY\+8=§ f '
FORIEE]
2 [-()43=-8
En S X = —0; . ‘l'

behavior

-

| et}

—> +0G;

Determine the lowest degree polynomial that has the given graph.
ThE!'I give a possible leading term. State the domain and range.
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Find all solutions and state the multiplicity of each. : m=I m=1 m=\
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3. End Behavior:

On the left, the graph

On the right, thé graph
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Solve the equation.
13. 5x% = 30x - 25x2

5x5+ 35%%-30x=0
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15. Use synthetic division or substitution to detéx-l Is a factor of x3
)
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Write a possible polynomial given the

following zeros.
14. 1,-1,-2

Y= (x=10x+1)(X4 2)
Y=(x-1 Xx*42x+x+2)

+x2 — 16x — 16.
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Divide using long division. Divide using synthetic division.
Is the divisor a factor? Is the divisor a factor? e
16. (24 + 1162 +18x +9) + (x2 + 3) | 1@ttt x )+ (x+ 1)
Lx +1) . "
X*+3 [ IxE N8 x+9 1y 8 O -H
x3 +6 %) .y 3
. -8 g
1}12,&+12x+4°13)
z +3 -3 [
1k el g 8 4 3 (%
b )2% -24
1‘32' 5;{‘ |
l;llo[gw v

Find the following using Pascal’s Triangle.
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20. Put together all the information you have learned in this chapter to make a rough sketch of polynomial:
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19. Find thrm of the expansion of
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Factor: YES
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Sketch:
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